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TesT TAKING STRATEGY Work as quickly as you can through the easier sections, but
avoid making careless errors on easy questions.

1. Multiple Choice In the diagram, how many
lines can be drawn through point X that are
skew to line a?

@® 0 1 oX

D 3

(E> More than 3 g
Multiple Choice

In Exercises 2-5, use the
diagram below. :

2. Which angles are corresponding angles?

@& /Zland 25 /4 and 26
@© /2and 26 D AandB
(B> AandC

3. Which angles are alternate exterior angles?

@ /2and 28 Z2and 27
B/ 3 and /8 D AandB
@®E AandC

4. Which angles are consecutive interior angles?

@& /3and L5 /4and L6
© /3and 27 D> AandB
E AandC

5. What type of angles are /4 and /57
Corresponding angles

Alternate exterior angles
Alternate interior angles
Consecutive interior angles

Consecutive exterior angles

IR
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Multiple Choice In Exercises 6-8, use the
diagram below. Think of each segment as
part of a line.

A B
6. AHC and ﬁ' are ?
A> perpendicular (B> skew
@© parallel @ intersecting

> None of these

<>
7. Which lines are skew to BF?
> — <>
(A> DH and JH 8 and IG
<> e
© CDand GH @D AandB
E& BandC

<>
8. Which lines are perpendicular to CG?
e
@ CDand CA B GHand BF
—
© HFand CA @ AandB
B BandC
9. Multi-Step Problem Use the diagram below

to answer parts (a)—(d). Think of each seg-
ment as part of a line.

E H

| >
. Name all lines parallel to AD.
: <>
. Name all lines skew to FG.
Name all lines perpendicular to f!?? w\

. Critical T, hinking If you did not know
ZABC was a right angle, which answers
above would be affected?

o o T o
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For use with pages 136-141

TesT TAKING STRATEGY Avoid spending too much time on one question. Skip ques-
tions that are too difficult for you, and spend no more than
a few minutes on each question.

1. Multiple Choice Find the value of x. 5. Multiple Choice Find the value of y from
@ 55 @B 35 Exercise 4.
© 90 @ 145 - @ 35 @ 70 @ 55
S i
® 125 55"\ @ 110 E 90

Quantitative Comparison For Exercises

2. Mulﬁple Ckoice Find the value Df 5,55 . 6_8, use the diagram be|0W. Choose the

@ 25 @ 50 statement that is true about the given
© 0 @@ 65 values.
B 155 Given: x L y ‘ y
1~ 25° m/5 = 35°
Th lue i 2
3. Multiple Choice b A colir‘;illi :;‘ 11/3
Which of the follow- o 1416 A
ing must be true if 2 = ;
a1 b? 3|1 (B The value in |

' a column B is l
I. Z1and /2 are greater. '

complementary. (> The values are equal.

T mrl 4 msd < 1808 @D The relationship cannot be determined

from the given information.

. mz1=ms2

® ® ' Column A Column B
Losly it 6. mL2 + mid mL6 -

@© TandII @ Tand I

B LIL and I 7. 1 D ms3 + ms6

8. ms3 ms.5
4. Multiple Choice Find the value of x.

@ 35

® 70 35°

@ 55 yD —'l

@ 110 x

& 90
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For use with pages 143-149

TesT Taking STRATEGY Sketch graphs or figures in your test booklet to help you
solve the problem. Even though you must keep your
answer sheet neat, you can make any kind of mark you
want in your test booklet.

Multiple Choice For \
1\2

Exercises 1-4, use the
3\ a
5\ 6

diagram at the right,
7% b

where a|| b.
Alternate Interior Angles Theorem

1. Choose the reason
the statement “If the
m/ 1 = 65° then
m/ 5 = 65°7 1s true.

Alternate Exterior Angles Theorem
Consecutive Interior Angles Theorem
Vertical Angles Theorem
Corresponding Angles Postulate

Mmoo ey

2. Choose the reason the statement “If the
ms3 = 115°, then m/Z5 = 65°” is true.

Alternate Interior Angles Theorem
Alternate Exterior Angles Theorem
Consecutive Interior Angles Theorem

Vertical Angles Theorem

Mmoo e e

Corresponding Angles Postulate

3. Choose the reason the statement “If the
ms2 = 115°, then m£7 = 115°7 is true.

Alternate Interior Angles Theorem

Alternate Exterior Angles Theorem
Consecutive Interior Angles Theorem

Vertical Angles Theorem

moe B s

Corresponding Angles Postulate

4. Tfthe m/ 6 = 115°, thenthe m/3 = __ 7
@© 180°

& 65° ® 115°
@ 90°

EL 7%%' E

(E) cannot be determined

Geometry
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68 &

not true when a || b?
b .
mL2 = mi6
mi4 + msib =

5. Multiple Choice Which of the following is
/1= /5and
£A=/8
3/4
ml EmLs = £ g i
180° 7/8
180°
®& msid=mL8

c

Quantitative Comparison  In Exercises 6-8,
use the diagram below where a| b and
x||y. Choose the statement that is true
about the given values.

120°

45 67a
101‘1

8
(B> The value in column A is greater.
The value in column B is greater.
The two values are equal.
(D) The relationship cannot be determined from
‘ the given information.
Column A Column B
6. ms 2 mL8
7. ms10 + mZ6 mL3 + mLll
8. ms 4 ms 14

Copyright © McDougal Littell Inc.
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For use with pages 150156

TesT TAKING STRATEGY When checking your work, try to use a method other than

the one you originally used to get your answer. If you use
the same method, you may make the same mistake twice.

1. Multiple Choice ¢

Which postulate or

theorem would prove *
el \
(&> Consecutive

Interior Angles \ y
Converse

Corresponding Angles Converse
Alternate Interior Angles Converse
Alternate Exterior Angles Converse

Cannot prove x || y with given information

2. Multiple Choice

Which postulate or
theorem would prove
al|b? 7

CA> Consecutive

Interior Angles
b
Converse ,
Corresponding Angles Converse
Alternate Interior Angles Converse
Alternate Exterior Angles Converse

Cannot prove a || b with given information

3. Multiple Choice t

Which postulate or

theorem would prove /1-420 x
pe ” y? ’ 28°

Interior Angles
Converse

Correspbnding Angles Converse
Alternate Interior Angles Converse
Alternate Exterior Angles Converse

Cannot prove x || y with given information -

Copyright © McDougal Littell Inc.
All rights reserved.

4. Multiple Choice 'What value of x would
make lines w and v parallel?

@ 30 o
B 20 ' \120" w
© 60 _
@ 40 v
® 50 (3x+ 60)"\
5. Multiple Choice 'Which lines are parallel?
£ ot e
@ EB| FD E F
<> > 5 5
Ll e A
© EF|BC 4 B C D
M BandC
(B> All of the above

6. Quantitative Comparison | Use the
diagram below to find the values of
x and y that would make a| b.

Choose the statement that is true
about the given values.

The value in column A is greater.
The value in column B is greater.

The two values are equal.

The relationship cannot be determined
from the given information.

66685

Column A Column B

X Y
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For use with pages 157-164

TEsT TAKING STRATEGY It is important to remember that your SAT score will not
solely determine your acceptance into a college or univer-
sity. Do not put added pressure on yourself to do well. If
you are not satisfied with your SAT score, remember that

you can take it again.

1. Multiple Choice Complete the following to
make a true statement. “In a plane, if two
lines are 7 to the same line, then they
? _ to each other.”

perpendicular, parallel
perpendicular, perpendicular
parallél, parallel

parallel, perpendicular
Aand C

MmO O®5s

2. Multiple Choice
‘Which theorem or 5
30>

postulate shows j || k? \k

Alt. Int. A
Converse

®

Cons. Int. 4 Converse
Alt. Ext. A Converse
Corresp. £ Converse

None of these

56686

3. Multiple Choice t
Which theorem or

®

postulate shows j || k?
Alt. Tnt. 4 ,7/ K

Converse /

Cons. Int. /4
Converse

Alt. Ext. 4 Converse

Corresp. 4 Converse.

mee @

- None of these

Geometry '
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4. Multiple Choice Which of the statements
must be true if a || b and x || y?

. msil=mi5
M. ms3 +mLS

= 180°
. ms7 + ms8

= 180°
@& Ionly B T only
(© Il only @ TIandII

(E> All of thé above

5. Multiple Choice Determine which lines
must be parallel.

® allb-
B

® cld 3\ \J\'
\\ d

© cle :
@ AandB \/ i
® AandC \ \

6. Multiple Choice What value of x makes
al b?

® 10 a b

- (2X 30)°
© 50

®

4 / [

7. Multi-Step Problem Given a | b, m | n, and

al m. m n
a. Provea 1 n.
1 a
b. Prove b | n. 1 3
5|6

Copyright ® McDougal Littell Inc.
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For use with pages 165-171

TesT TAKING STRATEGY Read each test question carefully. Always look for short-
cuts that will allow you to work through a problem more

quickly.
1. Multiple Choice Find the slope of the line
that passes through (5, 2) and (8, —1).
1 ® -1 © -3
@ 3 ® 2
2. Multiple Choice Which equation of the line

has a slope of 5 and passes through pomt
(—2,1)? .

@ y=5x—-11
© y=5x-9
E y=1lx+5

® y=5x-2
D 5= 5 il

3. Multiple Choice 'Which equation of the line
has a y—mtercept of 6 and is parallel to

y——-x+2° .

® y=--6 ® y=k-6
© y=-=x+6 @ y=i+6
& y=2x+6

 4. Multiple Choice 'Which equation of the line
passes through (3, —2) and is parallel to

e

X gk

@® y=%k-2 ® y?%x+3,
© y=%x—4 ™ y=%x

® y:%x—!-d,

5. Multiple Choice 'Which of the following is
an equation of a line parallel to 4y — 8 = 3x?

® y=-3+6 B® y=t4+2
© y=-3%x-1 @ y=3x—4
®& y:%x ‘

Copyright © McDougal Littell Inc.
All rights reserved.

6. Multiple Choice Which lines are parallel?

s a
\(72,l 7) (0, 6)
AN
(_315)\\
s 0,3) c
< :
\\
(_31 2) ™ 1 d ’
‘ NJ0, 0 N
L2 | |b]
4
alb ® bc © alc
(D> None E> All3

7 Multlple Choice A line k has equation
y = —% + 1.If k| i and i passes through
point (4 1), what is the equation of ;7

® y=-x+35 ® y=-x+4
© y=—%x+4k B p=riph s
® y=—%x+1

Quantitative Comparison In Exercises 8
and 9, choose the statement below which
is true about the given values.

(A The value in column A is greater.

(B> The value in column B is greater.
@© The two values are equal.
)]

The relationship cannot be determined
from the given information.

Column A t Column B
‘ The slope of the | The slope of the line
8. | line passing through passing through

(7,5) and (4, 6) (7,3) and (11, 2)

The y-intercept of the
line passing through |
(—1,2) and (4, — 1)

The y-intercept of

=3
Yy =X

Geometry
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For use with pages 172-178

TesT TAKING STRATEGY Do not panic if you run out of time before answering all of
the questions. You can still receive a high test score with-
out answering every question.

1. Multiple Choice 'Which is the slope of a
line perpendicular to the line y = —2x + 6?

&2 B  ® -3
—6 ® -t
2. Multiple Choice Wh_ICh equatlon of a line is
perpendicular to y = 5-’6 = "?

@® y=-k%+3 @® y=—%‘x‘+2
© y=—%x+3 @ y=3x+3

® y=2x+6

3. Multiple Choice The product of the slopes |
of two nonvertical perpendicular lines is

® 1 , 2~
with: given information
4. Multiple Choice A line k has equation

y = —ix + 3.If k L [ and [ passes through
point (4, 3), what is the equation of line {7

5 8
@y=wx*2 @}-)7:1_11""111'
W 3= 1x+2 ™ y:—%x+%‘

i, : '
E) J’_ '+2

5. Multiple Choice A line i has equation
i A . . .
y = 5x. If i L j and j passes through point |
* (6, 2), what is the equation of j?

B p=—2%t 14 B j=—2—14
© y=—2x—10_® y=—2x+ 10
® y=—%x+10

Geometry ‘
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Canan be determined 7

B. Multiple Choice Wthh lines are perpen- -

dicular? .

B y—5x+6 y=3x+%
y—_§x+1 ¥=5%—3

© y:%xi-3 y=2x+3
-1 : o
y=—gm—1 y=k-2

(E) None of these

7. Multiple Choice Which of the following
statements are true about lines w, n, p, and z?

w:y:%x+2
n:yﬁ%x+-6

piy== x—3

z:y:§x+1
Lwlp HWnfz M zlp
@ TIonly ® Tionly
@© I only @ IandIl
@& UandII-

8. Multi-Step Problem

a. On a coordinate plane, plot points A(2, 1)
and B(5, 2). _
b. Find the equation of the line j passing
through points A and B..
- ¢. Find the equation of the line &, perpendicu-
lar to line j and passing through point A.
d. Find the equation of the line /, parallel to
* line k and passing through point B. '
e. Critical Thinking If the bottom of a
rectangle lies along line j, and its sides lie
on lines k and [, find the slope of the ]me
represemmg the top

Cupynght ® McDougal Littell Inc.
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10. Multiple Choice Solve x + 12 = 24, then
choose the property that applies to the
required step.

Substitution property of equality.
Division property of equality.
Subtraction property of equality.
Distributive property of equality.
Reflexive property of equality.

11. Multiple Choice Two angles are supplemen-
tary. If m/ 1 is 67°, what is m/ 2?

i o7° @ 23° & 46
@ 134° E& 113°

12. Multiple Choice Solve for x and y.
x=12125y=24
x =25,y = 41%

% =25y~ 10
x =24,y =283

13. Multiple Choice In the diagram, /4 and /5
are what type of angles?

N
3&6
N

corresponding angles

alternate interior angles
alternate exterior angles
consecutive interior angles

consecutive exterior angles

Geometry
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14. Multiple Choice Find the value of x when
al b.

.y
®
©
@
&

15

16

17

18

19 b

15. Mulfiple Choice What value of ¢ would
make lines x and y parallel?

29

t
' \5&°
36 x
7 1\4,_;’::\ 1%
14

58

16. Quantitative Comparison Choose the
statement below that is true.

The value in column A is greater.
The value in column B is greater.
The two values are equal.

The relationship cannot be determined
from the given information.

Column A Column B

Slope of Slope of the
the line line perpendicular
Sx + 2y =12 toy=%x+6

17. Multiple Choice Find the measure of / 1.

32
357

o0F &,

33°
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